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Find the average of the following groups of numbers : |(Average)” IE®  (No.of ltems)
D 386721 @ 49:6-17-0
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Fill in the blanks :
ORN-T X @ xR % OV EE
Johnny's result Mandy's result Nick's result
F X F X F X
Chinese 90 Chinese 85 Chinese 96
=58 X P L
English English 87 English 87
# & & # &
Maths 91 Maths Maths 84
i T i
General Studies 92 General Studies 95 General Studies 93
Ly 4 4 sy
Tot;]l Totgl 354 Totgl
¥ 5 90 5 F 35 F 35
Average . Average Average
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Circle the answers :
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The temperature of the last three days in Tokyo was 0°C, 9 °C and 3°C .
Find the average temperature in these three days.

A. 9x3 B. (0+9+3)+3 C. (9+3)=2
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Martin has 35 candies, Johnny has 12 and May has 16. How many candies does
each of them have on average ?

A. 12x3 B. (35+12+16)x3 C. (35+12+16)+3

@ AL MOBRTHUAFARATOON s KB LM 9 BAHA S -
The number of visitors to Ocean Park is 768 people per day this week on average.
How many people visited Ocean Park this week ?

A T68xT B. 768x6 C.768+7
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WA %O a?
Peter and Paul have $460 altogether. Peter, Paul and Mary have $230 on average.
How much does Mary have ?

A. (230+460)+3 B. (460x2+230)+3 C.230%x3-460
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Martin and Johnny have $271 altogether. If Mandy has $88, how much does each of
them have on average ?

A. (271+88)~+3 B. (271-88)+3 C.(271+88)+2
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Each of Wendy and Yuki has $75 on average. If Teresa has $60, how much do they
have altogether ?

A. 75160 B. 75%x2+60 C. (75+60)x3
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